# ON UNIQUENESS FOR MEROMORPHIC FUNCTIONS AND THEIR *n*TH DERIVATIVES

Vu Hoai An (Hai Duong, Vietnam)Ha Huy Khoai (Hanoi, Vietnam)

Communicated by Bui Minh Phong (Received February 23, 2018; accepted July 15, 2018)

**Abstract.** In this paper, we consider the problem of uniqueness of derivatives of meromorphic functions when they share a set of roots of unity.

## 1. Introduction

Let  $\mathbb{C}$  denote the complex plane. By a *meromorphic function* we mean a meromorphic function in the complex plane  $\mathbb{C}$ .

In 1926, R. Nevanlinna ([8]) showed that a meromorphic function is uniquely determined by the inverse images, ignoring multiplicities, of 5 distinct values. In 1997 Yang and Hua ([10]) studied the unicity problem for meromorphic functions and differential monomials of the form  $f^n f'$ , when they share only one value.

S.S. Bhoosnurmath, R.S. Dyavanal ([2]) extend Yang–Hua's result to the case of  $(f^n)^{(k)}$ .

As a generalization of Nevanlinna's theorem on determining a meromorphic function by its single preimages, one considered the problem of determining a meromorphic function by a finite set of points in  $\mathbb{C} \cup \infty$ .

This research is funded by Vietnam National Foundation for Science and Technology Development (NAFOSTED) under grant number 101.01-2012.19.

https://doi.org/10.71352/ac.47.117

Key words and phrases: Meromorphic function, differential polynomial, unique range set. 2010 Mathematics Subject Classification: 30D35.

Inspired by the mentioned above results, in this paper we study possible relations between two meromorphic functions f and g, when  $(f^n)^{(k)}$  and  $(g^n)^{(k)}$  share a finite set.

We first recall some notations. Let f be a non-constant meromorphic function. For every  $a \in \mathbb{C}$ , define the function  $\nu_f^a : \mathbb{C} \to \mathbb{N}$  by

$$\nu_f^a(z) = \begin{cases} 0 & \text{if } f(z) \neq a \\ m & \text{if } f(z) = a \text{ with multiplicity } m, \end{cases}$$

and set  $\nu_f^{\infty} = \nu_{\frac{f}{f}}^0$ . For  $f \in \mathcal{M}(\mathbb{C})$  and  $S \subset \mathbb{C} \cup \{\infty\}$ , we define

$$E_f(S) = \bigcup_{a \in S} \{ (z, \nu_f^a(z)) : z \in a \in S \}.$$

In [12] Yang posed the problem: is it true that the equality  $f^{-1}(S) = g^{-1}(S)$  with  $S = \{-1, 1\}$  for polynomials of the same degree f, g implies that either f = g or f = -g? This problem was solved in [9].

Now let  $d, n, k \in \mathbb{N}^*$ . Concerning the mentioned above problem of Yang, and related topics (see, for example [9]), in this paper, instead of  $\{\pm 1\}$  we consider the set of roots of unity of degree  $d, S = \{a \in \mathbb{C} : a^d = 1\}$ , and the following problem: how we can say about the relations of f, g, if  $E_{(f^n)^{(k)}}(S) = E_{(q^n)^{(k)}}(S)$ ?.

We shall prove the following theorem.

**Theorem 1.** Let f(z) and g(z) be two non-constant meromorphic functions, and let n, d, k be positive integers with  $n > 2k + \frac{2k+8}{d}$ ,  $d \ge 2$ , and  $S = \{a \in \in \mathbb{C} : a^d = 1\}$ . If  $E_{(f^n)^{(k)}}(S) = E_{(g^n)^{(k)}}(S)$ , then one of the following two cases holds:

1.  $f = c_1 e^{cz}$  and  $g = c_2 e^{-cz}$  for three non-zero constants  $c_1, c_2$  and c such that  $(-1)^{kd} (c_1 c_2)^{nd} (nc)^{2kd} = 1$ ;

2. f = tg with  $t^{nd} = 1, t \in \mathbb{C}$ .

#### 2. Lemmas

We assume that the reader is familiar with the notations in the Nevanlinna theory (see [8]).

We first need the following Lemmas.

**Lemma 2.1.** ([8]) Let f be a non-constant meromorphic function on  $\mathbb{C}$  and let  $a_1, a_2, ..., a_q$  be distinct points of  $\mathbb{C} \cup \{\infty\}$ . Then

$$(q-2)T(r,f) \le \sum_{i=1}^{q} N_1\left(r, \frac{1}{f-a_i}\right) + S(r,f),$$

where S(r, f) = o(T(r, f)) for all r, except for a set of finite Lebesgue measure.

**Lemma 2.2.** ([10]) Let f and g be non-constant meromorphic functions on  $\mathbb{C}$ . If  $E_f(1) = E_g(1)$ , then one of the following three cases holds:

1.  $T(r,f) \le N_2(r,f) + N_2\left(r,\frac{1}{f}\right) + N_2(r,g) + N_2\left(r,\frac{1}{g}\right) + S(r,f) + S(r,g),$ 

and the same inequality holds for T(r, g);

- 2. fg = 1;
- 3. f = g.

**Lemma 2.3.** ([7]) Let f be a non-constant meromorphic function on  $\mathbb{C}$  and n, k be positive integers, n > k and let a be a pole of f. Then we have

$$(f^n)^{(k)} = \frac{\varphi_k}{(z-a)^{np+k}}, \text{ where } p = \nu_f^\infty(a), \varphi_k(a) \neq 0.$$

**Lemma 2.4.** ([7]) Let f be a non-constant meromorphic function on  $\mathbb{C}$  and n, k be positive integers, n > k and let a be a pole of f. Then we have

$$\frac{(f^n)^{(k)}}{f^{n-k}} = \frac{h_k}{(z-a)^{pk+k}}, \text{ where } p = \nu_f^\infty(a), h_k(a) \neq 0.$$

**Lemma 2.5.** Let f be a non-constant meromorphic on  $\mathbb{C}$  and k be a positive integer. Then we have

$$T(r,(f)^{(k)}) \le (k+1)T(r,f) + S(r,f).$$

**Proof.** By Lemma 2.4 and noting that  $m\left(r, \frac{(f)^{(k)}}{f}\right) = S(r, f)$  we get

$$T\left(r,(f)^{(k)}\right) = m\left(r,(f)^{(k)}\right) + N(r,(f)^{(k)}) \le m(r,f) + N(r,f) + kN_1(r,f) + S(r,f) \le T(r,f) + kT(r,f) + S(r,f) = (k+1)T(r,f) + S(r,f).$$

Lemma 2.5 is proved.

**Lemma 2.6.** Let f be a non-constant meromorphic function on  $\mathbb{C}$  and n, k be positive integers, n > 2k. Then

1. 
$$(n-2k)T(r,f) + kN(r,f) + N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) \le T\left(r,(f^n)^{(k)}\right) + S(r,f);$$
  
2.  $N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) \le kT(r,f) + kN_1(r,f) + S(r,f).$ 

**Proof.** 1. By Lemma 2.3 we have

(2.1) 
$$N(r, (f^n)^{(k)}) = nN(r, f) + kN_1(r, f).$$

From this and noting that  $S(r, f) = S(r, f^n), \ m\left(r, \frac{(f)^{(k)}}{f}\right) = S(r, f)$  we obtain

$$(n-k)m(r,f) = m(r,f^{n-k}) \le m\left(r,(f^n)^{(k)}\right) + m\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r,f) =$$
$$= m\left(r,(f^n)^{(k)}\right) + T\left(r,\frac{(f^n)^{(k)}}{f^{n-k}}\right) - N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r,f) \le$$
$$\le m\left(r,(f^n)^{(k)}\right) + kN(r,f) + km(r,f) + kN_1(r,f) - N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r,f) =$$

(2.2) 
$$= m(r, (f^n)^{(k)}) + kT(r, f) + kN_1(r, f) - N\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r, f).$$

From (2.1) and (2.2) it implies that

$$\begin{split} nN(r,f) + (n-k)m(r,f) &= (n-k)\Big(N(r,f) + m(r,f)\Big) + kN(r,f) = \\ &= (n-k)T(r,f) + kN(r,f) \le N\Big(r,(f^n)^{(k)}\Big) + m\Big(r,(f^n)^{(k)}\Big) - kN_1(r,f) + \\ &+ kT(r,f) + kN_1(r,f) - N\Big(r,\frac{f^{n-k}}{(f^n)^{(k)}}\Big) + S(r,f) = \\ &= T\Big(r,(f^n)^{(k)}\Big) - N\Big(r,\frac{f^{n-k}}{(f^n)^{(k)}}\Big) + kT(r,f) + S(r,f). \end{split}$$

Thus

$$(n-2k)T(r,f) + kN(r,f) + N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) \le T\left(r,(f^n)^{(k)}\right) + S(r,f).$$

2. By Lemma 2.4 and noting that  $m\left(r, \frac{(f)^{(k)}}{f}\right) = S(r, f)$  we have

$$N\left(r,\frac{1}{\frac{(f^{n})^{(k)}}{f^{n-k}}}\right) \leq T\left(r,\frac{(f^{n})^{(k)}}{f^{n-k}}\right) = m\left(r,\frac{(f^{n})^{(k)}}{f^{n-k}}\right) + N\left(r,\frac{(f^{n})^{(k)}}{f^{n-k}}\right) \leq km(r,f) + N\left(r,\frac{(f^{n})^{(k)}}{f^{n-k}}\right) + S(r,f) \leq k(T(r,f) - N(r,f)) + kN_{1}(r,f) + kN(r,f) + S(r,f) = kT(r,f) + kN_{1}(r,f) + S(r,f).$$

 $\operatorname{So}$ 

$$N\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right) \le kT(r, f) + kN_1(r, f) + S(r, f).$$

Lemma 2.6 is proved.

**Lemma 2.7.** ([11]) Let f(z) and g(z) be two non-constant entire functions and n, k be positive integers, n > k. If  $(f^n)^{(k)}(g^n)^{(k)} = h$ ,  $h \in \mathbb{C}, h \neq 0$ , then  $f = l_1 e^{lz}$  and  $g = l_2 e^{-lz}$  for three non-zero constants  $l_1, l_2$  and l such that  $(-1)^k (l_1 l_2)^n (nl)^{2k} = h$ .

**Lemma 2.8.** Let f be a non-constant meromorphic function and n, k be positive integers,  $n \ge k+3$ ,  $a \in \mathbb{C}$ ,  $a \ne 0$ . Then

$$\frac{n-k-2}{n+k} T_f(r) \le N_1\left(r, \frac{1}{(f^n)^{(k)}-a}\right) + S(r, f).$$

**Proof.** Since  $n \ge k+3$  we have  $\frac{n-k-2}{n+k} > 0$ . Because  $n \ge k+3$  it follows that  $(f^n)^{(k)}$  is not constant.

Applying Lemma 2.1 to  $(f^n)^{(k)}$  with the values  $\infty$ , 0 and a, we obtain

$$T\left(r, (f^{n})^{(k)}\right) \le \le N_1\left(r, (f^{n})^{(k)}\right) + N_1\left(r, \frac{1}{(f^{n})^{(k)}}\right) + N_1\left(r, \frac{1}{(f^{n})^{(k)} - a}\right) + S(r, f).$$

By the similar arguments as in the proof of [Lemma 3.4, 7] we obtain

$$N_1\left(r, \frac{1}{(f^n)^{(k)}}\right) \le \frac{k+1}{n} N\left(r, \frac{1}{(f^n)^{(k)}}\right) + \frac{k(n-k-1)}{n} N_1(r, f) + O(1),$$
$$\frac{1}{n+k} N\left(r, (f^n)^{(k)}\right) \ge N_1(r, f), \qquad N_1\left(r, (f^n)^{(k)}\right) = N_1(r, f).$$

Therefore,

$$T\left(r, (f^{n})^{(k)}\right) \leq \frac{k+1}{n} N\left(r, \frac{1}{(f^{n})^{(k)}}\right) + \left(1 + \frac{k(n-k-1)}{n}\right) N_{1}\left(r, (f^{n})^{(k)}\right) + N_{1}\left(r, \frac{1}{(f^{n})^{(k)} - a}\right) + S(r, f).$$

From this and by

$$N\left(r, \frac{1}{(f^n)^{(k)}}\right) \le T(r, (f^n)^{(k)}) + S(r, f),$$
$$N_1(r, (f^n)^{(k)}) \le T(r, (f^n)^{(k)}) + S(r, f),$$

we have

$$T(r, (f^n)^{(k)}) \le \left(\frac{k+1}{n} + \frac{n+k(n-k-1)}{(n+k)n}\right) T(r, (f^n)^{(k)}) + N_1\left(r, \frac{1}{(f^n)^{(k)} - a}\right) + S(r, f),$$
$$\frac{n-k-2}{n+k} T_f(r) \le N_1\left(r, \frac{1}{(f^n)^{(k)} - a}\right) + S(r, f).$$

Lemma 2.8 is proved.

# 3. Proof of Theorem 1

Since  $n \ge k+3$ , from Lemma 2.8, applying to  $(f^n)^{(k)}$  with the value 1, it implies that  $(f^n)^{(k)} = 1$  has a solution. So  $E_{(f^n)^{(k)}}(S) \ne \emptyset$  and  $E_{(g^n)^{(k)}}(S) \ne \emptyset$ . By  $E_{(f^n)^{(k)}}(S) = E_{(g^n)^{(k)}}(S)$  we see that  $((f^n)^{(k)})^d$  and  $((g^n)^{(k)})^d$  share the value 1 CM. Applying Lemma 2.2 to  $((f^n)^{(k)})^d, ((g^n)^{(k)})^d$  we arrive to one of the following cases:

Case 1.

$$T\left(r, ((f^{n})^{(k)})^{d}\right) \leq N_{2}\left(r, ((f^{n})^{(k)})^{d}\right) + N_{2}\left(r, \frac{1}{((f^{n})^{(k)})^{d}}\right) + N_{2}\left(r, ((g^{n})^{(k)})^{d}\right) + N_{2}\left(r, \frac{1}{((g^{n})^{(k)})^{d}}\right) + S\left(r, ((f^{n})^{(k)})^{d}\right) + S\left(r, ((g^{n})^{(k)})^{d}\right),$$

$$T\left(r, ((g^{n})^{(k)})^{d}\right) \le N_{2}\left(r, ((f^{n})^{(k)})^{d}\right) + N_{2}\left(r, \frac{1}{((f^{n})^{(k)})^{d}}\right) + N_{2}\left(r, ((g^{n})^{(k)})^{d}\right) + N_{2}\left(r, (g^{n})^{(k)}\right) + N_{2}\left(r, (g^{n})^{(k)}\right) + N_{2}\left(r, (g^{$$

(3.1) 
$$+ N_2\left(r, \frac{1}{((g^n)^{(k)})^d}\right) + S\left(r, ((f^n)^{(k)})^d\right) + S\left(r, ((g^n)^{(k)})^d\right)$$

By Lemma 2.6 we obtain

$$(n-2k)T(r,f) \le T\left(r,(f^n)^{(k)}\right) + S(r,f) \le (k+1)nT(r,f) + S(r,f),$$
  
$$(n-2k)T(r,g) \le T\left(r,(g^n)^{(k)}\right) + S(r,g) \le (k+1)nT(r,g) + S(r,g).$$

From this and since

$$T\left(r, ((f^{n})^{(k)})^{d}\right) = dT\left(r, (f^{n})^{(k)}\right) + S\left(r, (f^{n})^{(k)}\right),$$
$$T\left(r, ((g^{n})^{(k)})^{d}\right) = dT\left(r, (g^{n})^{(k)}\right) + S\left(r, (g^{n})^{(k)}\right)$$

it is easy to see that

 $\leq$ 

(3.2)  
$$S\left(r, ((f^{n})^{(k)})^{d}\right) = S\left(r, (f^{n})^{(k)}\right) = S(r, f),$$
$$S\left(r, ((g^{n})^{(k)})^{d}\right) = S\left(r, (g^{n})^{(k)}\right) = S(r, g).$$

On the other hand, if a is a pole of  $((f^n)^{(k)})^d$ , then  $f(a) = \infty$  with  $\nu_{((f^n)^{(k)})^d}^{\infty}(a) \ge n+k \ge 2$ . Moreover, because  $d \ge 2$ , we see that if a is a zero of  $((f^n)^{(k)})^d$ , then  $(f^n)^{(k)}(a) = 0$  with  $\nu_{((f^n)^{(k)})^d}^0(a) \ge 2$ . Therefore,

$$\begin{split} N_2\left(r,((f^n)^{(k)})^d\right) &= 2N_1(r,f) \le 2T(r,f) + S(r,f),\\ N_2\left(r,\frac{1}{((f^n)^{(k)})^d}\right) &= 2N_1\left(r,\frac{1}{(f^n)^{(k)}}\right) \le \\ &\le 2\left(N_1\left(r,\frac{1}{f^{n-k}}\right) + +N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right)\right) = \\ &= 2\left(N_1\left(r,\frac{1}{f}\right) + N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right)\right) \le \\ &2T(r,f) + 2N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r,f) \le 2T(r,f) + 2kN_1(r,f) + \\ &+ 2kT(r,f)) + S(r,f) = (2k+2)T(r,f) + 2kN_1(r,f) + S(r,f). \end{split}$$

Similarly,

$$N_2\left(r, ((g^n)^{(k)})^d\right) \le 2T(r, g) + S(r, g),$$
$$N_2\left(r, \frac{1}{((g^n)^{(k)})^d}\right) \le 2(T(r, g) + N\left(r, \frac{g^{n-k}}{(g^n)^{(k)}}\right) \le \le 2(k+1)T(r, g) + 2kN_1(r, g) + S(r, f).$$

 $\operatorname{Set}$ 

$$T(r) = T(r, f) + T(r, g),$$
  

$$S(r) = S(r, f) + S(r, g),$$
  

$$N(r) = N(r, f) + N(r, g),$$
  

$$N_1(r) = N_1(r, f) + N_1(r, g).$$

Combining (3.1) and (3.2) we get

$$T\left(r, ((f^{n})^{(k)})^{d}\right) \leq (4+2k)T(r, f) + 4T(r, g) + 2kN_{1}(r, f) + 2N\left(r, \frac{g^{n-k}}{(g^{n})^{(k)}}\right) + S(r)$$

$$T\left(r, ((g^{n})^{(k)})^{d}\right) \leq (4+2k)T(r, g) + 4T(r, f) + 2kN_{1}(r, g) + 2N\left(r, \frac{f^{n-k}}{(f^{n})^{(k)}}\right) + S(r)$$

$$T\left(r, ((f^{n})^{(k)})^{d}\right) + T\left(r, ((g^{n})^{(k)})^{d}\right) \leq (4+2k)T(r) + 4T(r) + 2kN_{1}(r) + 2N\left(r, \frac{g^{n-k}}{(g^{n})^{(k)}}\right) + 2N\left(r, \frac{f^{n-k}}{(f^{n})^{(k)}}\right) + S(r).$$

On the other hand, by Lemma 2.6 we have

$$d((n-2k)T(r,f) + kN(r,f) + N\left(r,\frac{f^{n-k}}{(f^n)^{(k)}}\right) \leq T\left(r,((f^n)^{(k)})^d\right) + S(r,f),$$
  
$$d((n-2k)T(r,g) + kN(r,g) + N\left(r,\frac{g^{n-k}}{(g^n)^{(k)}}\right) \leq T\left(r,((g^n)^{(k)})^d\right) + S(r,g),$$

Thus,

$$d(n-2k)T(r) + dkN(r) + dN\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right) + dN\left(r, \frac{g^{n-k}}{(g^n)^{(k)}}\right) \le \le (4+2k)T(r) + 4T(r) + 2kN_1(r) + 2N\left(r, \frac{g^{n-k}}{(g^n)^{(k)}}\right) + 2N\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right) + S(r).$$

Moreover, because  $d \ge 2$ , we give

$$dN\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right) \ge 2N\left(r, \frac{f^{n-k}}{(f^n)^{(k)}}\right),$$
$$dN\left(r, \frac{g^{n-k}}{(g^n)^{(k)}}\right) \ge 2N\left(r, \frac{g^{n-k}}{(g^n)^{(k)}}\right),$$
$$dkN(r) \ge 2kN_1(r).$$

Therefore,

$$d(n-2k)T(r) \le (2k+8)T(r) + S(r), \ d(n-2k) \le 2k+8.$$

From this we obtain a contradiction to  $n > 2k + \frac{2k+8}{d}$ .

**Case 2.**  $((f^n)^{(k)})^d((g^n)^{(k)})^d = 1$ . From this we have  $(f^n)^{(k)}(g^n)^{(k)} = h$  with  $h^d = 1$ . We are going to prove  $f(z) \neq 0$ ,  $f(z) \neq \infty$ ,  $g(z) \neq 0$ ,  $g(z) \neq \infty$  for all  $z \in \mathbb{C}$ . Assume f has a zero a, and  $\nu_f^0(a) = \alpha$ ,  $\alpha \geq 1$ . Then a is a pole of g with  $\nu_g^{\infty}(a) = \beta$ ,  $\beta \geq 1$  such that  $n\alpha - k = n\beta + k$  and  $n(\alpha - \beta) = 2k$ . From this and by  $n \geq 2k + \frac{2k+8}{d} > 2k$  we obtain a contradiction. By similar arguments we have  $g(z) \neq 0$ ,  $f(z) \neq \infty$ ,  $g(z) \neq \infty$  for all  $z \in \mathbb{C}$ . So f(z) and g(z) are two non-constant entire functions. Applying Lemma 2.7 to f and g we obtain  $f = c_1 e^{cz}$  and  $g = c_2 e^{-cz}$  for three non-zero constants  $c_1, c_2$  and c such that  $(-1)^k (c_1 c_2)^n (nc)^{2k} = h$ . Because  $h^d = 1$  we give  $(-1)^{kd} (c_1 c_2)^{nd} (nc)^{2kd} = 1$ .

**Case 3.**  $((f^n)^{(k)})^d = ((g^n)^{(k)})^d$ . Then  $(f^n)^{(k)} = h(g^n)^{(k)}$  with  $h^d = 1$ . Set  $e^n = h$  we have  $(f^n)^{(k)} = ((eg)^n)^{(k)}$ . By the similar arguments as in the proof of [Theorem 1.1, 1] we obtain f = seg with  $s^n = 1$ . Set t = se. Then we get  $t^{nd} = s^{nd}e^{nd} = 1$ .

Theorem 1 is proved.

### References

- An, V.H., P.N. Hoa and H.H. Khoai, Value sharing problems for differential and difference polynomials of meromorphic functions in a non-Archimedean field, *p-Adic Numbers*, Ultrametric Analysis and Applications, 9(1) (2017), 1–14.
- [2] Bhoosnurmath, S.S. and R.S. Dyavanal, Uniqueness and valuesharing of meromorphic functions, *Comput. Math. Appl.*, 53 (2007), 1191–1205.

- [3] Gross, F. and C.C. Yang, On preimage and range sets of meromorphic functions, Proc. Japan Acard. Ser. A Math. Sci., 58 (1982), 17–20.
- [4] Frank, G. and M. Reinders, A unique range set for meromorphic functions with 11 elements, *Complex Variables Theory Appl.*, 37(1-4) (1998), 185–193.
- [5] Fujimoto, H., On uniqueness of meromorphic functions sharing finite sets, Amer. J. Math., 122(6) (2000), 1175–1203.
- [6] Khoai, H.H., V.H. An and L.Q. Ninh, Uniqueness theorems for holomorphic curves with hypersurfaces of Fermat–Waring Type, *Complex Anal. Oper. Theory*, 8 (2014), 591–794.
- [7] Khoai, H.H., V.H. An and N.X. Lai, Value sharing problem and Uniqueness for *p*-adic meromorphic functions, Ann. Univ. Sci. Budapest., Sect. Comp., 38 (2012), 71–92.
- [8] Hayman, W.K., Meromorphic Functions, Clarendon, Oxford, 1964.
- [9] Ostrovskii, I., F. Pakovitch and M. Zaidenberg, A remark on complex polynomials of least deviation, *Internat. Math. Res. Notices* 14 (1996), 699–703.
- [10] Yang, C.C. and X.H. Hua, Uniqueness and value-sharing of meromorphic functions, Ann. Acad. Sci. Fenn. Math., 22 (1997), 395–406.
- [11] Zhang, X.Y., J.F. Chen and W.C. Lin, Entire or meromorphic functions sharing one value, *Comput. Math. Appl.*, 56 (2008), 1876–1883.
- [12] Yang, C.C., Open problem, in: Complex analysis, Proceedings of the S.U.N.Y. Brockport Conf. on Complex Function Theory, Edited by Sanford S. Miller. Lecture Notes in Pure and Applied Mathematics, (June 7–9, 1976), 36, Marcel Dekker, Inc., New York-Basel, 1978.

## V. H. An

Hai Duong College Hai Duong Province Vietnam Thang Long Institute of Mathematics and Applied Sciences Ha Noi City Vietnam vuhoaianmai@yahoo.com

### H. H. Khoai

Thang Long Institute of Mathematics and Applied Sciences Ha Noi City Vietnam hhkhoai@math.ac.vn